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A word on Integrals by the definition.
Right-endpoints is all we'll worry about, here. First, the theory...
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Use right-endpoint definition of the definite integral to evaluate
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Find the derivative of the function. 25

variable is y. This is not a chain-rule question. It's a

2 5 Don't be thrown by the fact that the independent
Gly) =2
straight-up "Differentiate w.r.ty' question.
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Use a linear approximation (or differentials) to estimate the given number. Round your

answer to 5 decimal places.
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+ 0/3 points SCalcd 3.2.019. [4709269]

Find the number ¢ that satisfies the conclusion of the Mean Value Theorem on the given interval. (Enter your answers as a
comma-separated list, If an answer does not exist, enter DNE.)
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Graph the function, the secant line through the endpoints, and the tangent line at (c, f{c)).
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Suppose that 3 £ f'(x) < 4 for all values of x. What are the minimum and maximum possible values of f{5) — f{1)?
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Find the point on the line y= 2
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